ES Avv Ve behopis
info@savvyoffroad.com

OoOFFA>ROAD

Savvy Off Road License Plate Relocator TJ/LJ 1997-2006

Thank you for the purchase of our License Plate Relocator Bracket. The slim profile of the Savvy Tail Lights
requires the OEM license plate mount to be lowered and the license plate relocator bracket is the solution.

The license plate relocator bracket is made of stainless steel for maximum rust prevent. It has such a small
footprint making it difficult to notice that its installed. Should you choose to install license plate lighting there are
four oversized washers that provide additional clearance for license plate wiring.

Enclosed you will find a set of instructions that will enable you to install the License Plate Relocator with a mini-
mum of fuss and little more than basic hand tools. If you attempt the install and find yourself not understanding
what needs to be done, please contact Savvy Off Road with your technical issue.

Please take the time to read these instruction and familiarize yourself with the hardware parts list before at-
tempting your installation. The instructions are detailed, but are written to provide you with a step-by-step guide
to install the Savvy License Plate Relocator with minimal issues.

Parts and tools needed for installation- Outside of the parts supplied in the kit, you will need personal safety
equipment, assorted hand tools and allen bits to complete the installation.




Page 2—Savvy License M (949) 870-8106
Plate Relocator info@savvyoffroad.com

OoOFFA~ROAD

Hardware Parts List

Hardware Quantity
License Plate Relocator Bracket (A) 2
10-32 Nylon-Insert Hex Locknuts (B) 8
10 - 32 x 1" Stainless Steel Button Head Socket Cap Screws (C) 4
#10 Stainless Steel Washers (D) 8
#10 Stainless Steel Oversized Washers (E) 4

< D/~ v
) N/
e o,
© :
0 ¢ |
A
o e

™~
)




Page 3—Savvy License M (949) 870-8106
Plate Relocator info@savvyoffroad.com
OFFFAR0OAD

Remove the four screws that hold the license
plate mount (red arrows).

Install the License Plate Relocator (A) as shown
with studs facing outwards.

Install the (4) 10 - 32 x 1" Button Head Socket
Cap Screws (C) as shown by the (red arrows)
with (4) #10 Stainless Steel Washers (D)

and (4) 10-32 Nylon-Insert Hex Locknuts (B)
behind the tub.

Install the (4) #10 Stainless Steel Oversized
Washers (E) on the threaded studs (green ar-
rows) to allow room for license plate light wiring
if needed.

Reinstall the OEM Stock License Plate Holder
using (4) #10 Stainless Steel Washers (D)
and (4) 10-32 Nylon-Insert Hex Locknuts (B)
(red arrows). Snug only to prevent the studs
from spinning.

Using the stock screws to reinstall your License
Plate.




